Sk

g
Tl
>

1. ¥¥4
B4 ST 6AEEE  [ENE 3 B (LR H RS I A S
JEATST L EEHERFHHBRATE N

2. EBEAR
REAT) | [EE 5T JEREE P i

1) FEF4
2) BT 182 HH H &f1 64 67290
= S 6FE12H27H

3) wHwyI
AL, IIBBHERR SR N O 3 1230 T, SHIHIRY (i, TS

RE) DORFEEATV. EREHRORER S N ZETHBRZEDHREIT O b
DTH %,

4) FEHBNA
BE TEERRILR) D LBY

E+sZi@E SN



¥4 | DR6AEE  [EiE 3 B FEH X IE KR SRS ¥ BGES
HH TEEE h % AR
THHE - THE - R BT B & 4 H OB RR
TE PR AR v 1 15, 124, 608
JE PR B S 2V 1 14, 997, 408
SRR T 2V 1 1,994, 640 | FEHFHEE/ER
1 X
B BB IR A
1 X
B Hh ks
1 X
BELREERS ek S R ERK
1 X
TE BRI IR PR AR 2V 1 8,803,316 | ik - EuAR (B
86 pAe
(&)
- TR (R4
58 pAe
(&)
FREAT
244 #
(&)
s EER = 1 4,199,452 | FIRFIEIER CEFSHERFHMAR
) 388 *
R
1 =
ISP R R SRR R = 1 127, 200
BRI R AL S YRR 2 =« 1 127,200 | ZABAFRRRSVERE
1 =
I3 v 1 338, 000
JLim GRA - FHEER) Y 1 338, 000

-1- E+sZi@E SN



%lljll
I

EHA | BRGEE  [EHE 3 SILFEH X AR B SRS e BOES
H H L3l
THH - T - fER] B fr % 4 % OB AN R
e85 = 338,000 | ¥T&+%
1 X
[R5 S =4 2y 7,271, 507
[EReES =X 7,271, 507
TR =X 230,392 | fr#e (FiHLE - 1581A%)
1 X
RO #; 199,000 | FEFRCRALTEREE
1 oM
Ktk X 2,440, 615 | Aty
1 M
BN 2 4,401,500 | Z&#
1 M
B (Z Ot mER <) = 22,734,115
Z DA = 8,326, 614
— B = 16, 719, 271
EHATRE = 47, 780, 000
T B R — B = 112, 520
T R 2R} = 112, 520
T F R R = 112,520 | 7 —& ~_— 2B gkt
1 =
EHEEG = 112, 520
MBEEGE = -2, 520
-2 - E A28 SUNHT R



il

\

BN

ull
P

EHA | BRGEE  [EHE 3 SILFEH X AR B SRS E i FFa
H H MRS
THH - T - fER] A7 # 4 % OB ORR
AR = -2, 520
SERSMRE =X 110, 000
SERSMRE =X 47, 890, 000
— 3 —

E+sZi@E SN



